(B - )

HX[ Eff | =

m aka | il |:—b‘ a-p I AL | 4818 [ 7H18 | 8?% [ 10H1E | umﬁ_| il
1. KP9E%fE
(D RLF-FY R
AL b (S5400) M10X1 6mm 0000 A/ kg 192 192 192 192 192|
AAAL b (S5400) M12X16mm 0000 A/ kg 176 176 176 176 176
FAAL b (S5400) M10X2Omn 0000 A/ kg 193 193 193 193 193
AL R (S5400) M1 2 X2 O0mn 0000 M/ kg 175 175 175 175 175
AL R (S5400) M14X20m 0000 A/ kg 192 192 192 192 192
ANAAIL b (SS400) M16 X2 0mn 0000 A/ kg 151 151 151 151 151
AL (S5400) M10X2 5m 0000 M/ kg 196 196! 196 196 196
AL (S5400) M12X25m 0000 A/ kg 177 177 177, 177 177]
FAAL R (S5400) M14X25m 0000 A/ kg 193 193 193 193 193]
AL b (S5400) M16 X2 5m 0000 M/ kg 150 150! 150, 150 150,
AL E(S5400) M10X30mm 0000 M,/ kg 197 197 197, 197 197,
AAAL b (S5400) M1 2 X3 0mn 0000 A/ kg 178 178 178 178 178
FSAAIL b (S5400) M14X30mm 0000 A/ kg 191 191 191 191 191
SAAFL R (S5400) M1 6 X3 0mm 0000 A/ kg 151 151 151 151 151
AAAL b (85400) M2 0 X3 Omn 0000 A/ kg 150 150! 150, 150 150,
AAAFL b (S5400) M2 2 X3 0mn 0000 B/ kg 156 156! 156| 156 156|
AAAFL b (S5400) M24X30m 0000 A/ kg 161 161 161 161 161
FAAAL b (S5400) M10X35mm 0000 A/ kg 191 191 191 191 191
AAAIL b (S5400) M1 2 X3 5m 0000 A/ kg 178 178 178 178 178
AAAL R (55400) M14X35m 0000 A/ kg 193 193 193 193 193
AAAL b (S5400) M16 X3 5mm 0000 A/ kg 151 151 151 151 151
AL R (S5400) M2 0 X3 5mm 0000 A/ kg 150 150! 150, 150 150,
AN b (SS400) M2 2 X3 5mm 0000 A/ kg 156 156 156 156! 156
AAAL b (SS400) M2 4 X3 5m 0000 A/ kg 160 160! 160, 160 160,
AL (S5400) M10 X4 Omn 0000 M/ kg 188 188 188 188 188
AAHANLE(S5400) M1 2 X4 0mn 0000 M/ kg | #-3-P65| #-3-P65| #-3-P65| #-3-P65[HE-10-P65
AAAL R (S5400) M14 X4 O0mn 0000 A/ kg 192 192 192 192 192
AL (S5400) M16 X4 O0mn 0000 A/ kg 151 151 151 151 151
AL R (S5400) M2 0 X4 Omm 0000 A/ kg 151 151 151 151 151
AAAL bk (SS400) M2 2 X4 Omn 0000 M/ kg 156 1561 156, 156 156,
AL (S5400) M10 X4 5m 0000 M/ kg 187 187 187, 187 187,
AAAL b (SS400) M1 2X45m 0000 M/ kg | #-3-pe5| #-3-pe5| #-3-Pe5| H-3-P65[HE-10-P65
AAAFL R (SS400) M14X45m 0000 M/ kg 194 194 194 194] 194]

kk16_H 4% 25 (#(H25.11.1).xIs 1/15

T s (Eiff : /)
s il bt a-p AL 4H1H THI1H 8H1H 1018 | 11H1H iid
ASEANE(SS400) M16X45m 0000 B/ kg 151 151 151 151 151
FSAAL b (S5400) M18 X4 5mm 0000 B/ kg 246 246 246 246 246
AP b (SS400) M20X4 5m 0000 B/ kg 151 151 151 151 151
AAAL b (SS400) M2 2 X4 5m 0000 A/ kg 156 156 156) 156, 156]
AAAL b (SS400) M2 4 X4 5m 0000 A/ kg 161 161 161 161 161
AAAL b (SS400) M10X50mm 0000 B/ kg 185 185 185 185 185
AEAN B (S5400) M12X50mm 0000 M/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AL b (S5400) M14X50m 0000 M/ kg 193 193 193 193 193]
AAFNE(S5400) M16X50mm 0000 B/ kg -3-P65| #t-3-P65| Ht-3-P65| Ht-3-P65|H-10-P65 |
AAAV b (S5400) M18X5O0m 0000 B/ kg 246 246 246 246) 246)
AAEAN b (S5400) M20X50mm 0000 M kg | #-3-P65| H-3-P65 ﬂ—a—Pa-s‘i #-3-P65|H-10-P65
AEAN B (S5400) M2 2 X5 0mm 0000 kg | #-3-P66| #-3-P66| #-3-Pe6| #t-3-P66|Et-10-P66
ANEAN b (S5400) M2 4 X5 0mm 0000 M kg | #-3-Pe6| #-3-Pe6| #-3-Pe6| #Ht-3-P66|H-10-P66
ANFAAL R (S5400) M3 0 X5 0mm 0000 A/ kg 213 213 213| 213 213
AL R (55400) M10 X5 5mm 0000 M/ kg 183 183 183 183 183
AAFN b (SS400) M12X55mm 0000 M kg | #-3-P65| #-3-Pe5| #-3-P65| #t-3-P65|H-10-P65 |
AL R (SS400) M14 X5 5mm 0000 M/ kg 193 193 193, 193 193]
AAAL F(S5400) M1 6 X5 5m 0000 M/ kg 151 151 151 151 151]
AAAL b (85400) M1 8 X5 5mm 0000 A/ kg 246 246 246 246 246|
AEANL b (85400) M2 0 X5 5mm 0000 A/ kg 151 151 151 151 151]
AAAL b (S5400) M22X55m 0000 B/ kg 156 156 156| 156 15_6_|
AEAN B (S5400) M2 4 X5 5m 0000 A/ kg 161 161 161 161 161
SEHAN B (SS400) M3 0X55mm 0000 A/ kg 213 213 213 213| 213
AN E(SS400) M10X6O0mm 0000 B/ kg 184 184 184/ 184 184
AAAL b (S5400) M12X60mm 0000 M kg | #-3-P65| #-3-P65| #-3-P65| #-3-P65[HE-10-P65
AAAL R (SS400) M14 X6 0mn 0000 A/ kg 193 193 193 193 193]
NAEAN B (S5400) M16 X6 Omm 0000 kg | #-3-Pe5| #-3-Pe5| #t-3-P65| #t-3-P65|H-10-P65 |
AAEAN B (S5400) M1 8 X6 Omm 0000 A/ kg 246 246 246 246 246|
AR B (SS400) M2 0 X6 Omm 0000 M/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AEAN b (S5400) M2 2 X6 0mm 0000 M/ kg | #-3-P66| H-3-P66| H-3-P66| H-3-P66|H-10-P66
AN (SS400) M2 4 X6 Omm 0000 M/ kg | #-3-P66| H-3-P66| H-3-P66| H-3-P66|H-10-P66
AL (S5400) M3 0 X6 O0mn 0000 M/ kg 213 213 213 213 213
AAAN b (S5400) M3 6 X6 0mm 0000 A/ kg 237 237 237 237 237
AAAL bk (SS400) M10 X6 5mm 0000 A/ kg 182 182 182 182 182
AAAN b (S5400) M1 2 X6 5mm 0000 A/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AAANE(S5400) M14X65m 0000 A/ kg 193 193 193 193 193
AAAIL R (SS400) M16 X6 5mm 0000 A/ kg 151 151 151 151 151

kk16_H % 25 (#(H25.11.1).xIs 2/15

164



(B - )

HX[ Eff 3
s i s | sop | B e T Bi% [T0A1E [ 1181 El_| il
AAAL b (S5400) M1 8 X6 5mm 0000 A/ kg 246 246 246| 246 246|
AL b (S5400) M2 0 X6 5mm 0000 M/ kg 151 151 151 151 151]
AAAL b (SS400) M2 2 X6 5mm 0000 B/ kg 156 156 156, 156 15§|
AAAL R (S5400) M2 4 X6 5mm 0000 A/ kg 161 161 161 161 161
AL (S5400) M3 0 X6 5m 0000 A/ kg 213 213 213 213 213
AL R (S5400) M3 6 X6 5mm 0000 A/ kg 237 237 237 237 237
AAAFL b (SS400) M10 X7 Omn 0000 A/ kg 179 179 179 179 179
AAEAN b (S5400) M12X7Omm 0000 M/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AAEAN b (S5400) M14 X7 Omm 0000 A/ kg 194 194 194] 194 194
AEAN b (S5400) M16 X7 Omm 0000 B/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AEANL R (S5400) M18X70mm 0000 M/ kg 246 246 246 246 246
AAAL b (55400) M2 0 X7 Omm 0000 kg | #-3-P65| #-3-P65| E-3-P65| E-3-P65[HE-10-P65
NAAN B (S5400) M2 2 X7 Omm 0000 M/kg | #-3-P66| H-3-P66| H-3-P66| H-3-P66|H-10-P66
AAAL b (SS400) M2 4 X7 Omm 0000 M kg | #-3-Pe6| Et-3-Pe6| #t-3-Pe6| #t-3-P66|H-10-P66
AL (55400) M3 0 X7 Omm 0000 M/ kg 213 213 213 213 213
AEAN b (S5400) M3 6 X7 Omm 0000 A/ kg 237 237| 237 237 237
AAAL b (SS400) M10X7 5mm 0000 A/ kg 178 178 178 178 178
AL b (SS400) M12X75mm 0000 B/ kg | #-3-pe5| #-3-pe5| #-3-Pe5| #-3-P65[H-10-P65
AL B (S5400) M14X75m 0000 A/ kg 193 193 193 193 193]
FAAL b (S5400) M16 X7 5mm 0000 A/ kg 150 150, 150, 150 150]
AL b (S5400) M1 8 X7 5mm 0000 A/ kg 246 246 246 246 246|
ASAFIL b (SS400) M2 0 X7 5mm 0000 A/ kg 151 151 151] 151 151
AL b (S5400) M2 2 X7 5mm 0000 A/ kg 156 156 156] 156! 156]
AL R (S5400) M2 4 X7 5mm 0000 M/ kg 161 161 161 161 161]
AEAN b (S5400) M30X75mm 0000 A/ kg 213 213 213 213 213
AEAN b (S5400) M3 6 X7 5mm 0000 A/ kg 237 237 237 237 237
AL (S5400) M10 X8 Omm 0000 M/ kg | #4-3-P57| #4-3-P57| #4-3-P57| #4-3-P57[#4-10-P57
AEANL R (S5400) M1 2 X8 Omn 0000 M/ kg | #-3-pe5| #-3-Pe5| #-3-P65| H-3-P65[H-10-P65
AAAL b (SS400) M14 X8 Omn 0000 A/ kg 222 222 222 222 222
AEANL b (S5400) M16 X8 Omm 0000 A/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AAAL b (SS400) M1 8 X8 Omm 0000 A/ kg 246 246 246 246 246/
AR b (SS400) M2 0 X8 Omm 0000 M/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AEAN B (S5400) M2 2 X8 Omm 0000 M/ kg | #-3-P66| #-3-P6e6| #H-3-P66| #H-3-P66|HE-10-P66
AEAN B (S5400) M2 4 X8 Omm 0000 A/ kg | ¥-3-P66| Et-3-P6e6| #-3-P66| H-3-P66|H-10-P66
AAAFL b (S5400) M3 0 X8 Omm 0000 B/ kg 213 213 213 213 213
AAAFL b (S5400) M3 6 X8 Omm 0000 A/ kg 237 237 237, 237 237,
FAAAL b (S5400) M4 2 X8 Omm 0000 A/ kg 261 261 261 261 261|

kk16_H 4% 25 (#(H25.11.1).xIs 3/15

T s (Eiff : /)
s il bt a-p AL 4H1H THI1H 8H1H | 1018 | 1181 EI_I iid

AAAL b (S5400) M10X85m 0000 B/ kg 226 226 226| 226 226
FSAAL b (S5400) M1 2 X8 5mm 0000 B/ kg | #-3-Pe5| H-3-Pe5| H-3-P65| Ht-3-P65|H-10-P65
AL E(SS400) M14X85m 0000 B/ kg 222 222 222 222 222
AL R (S5400) M16 X8 5mm 0000 A/ kg 151 151 151 151 151
AAAIL b (S5400) M1 8 X8 5mm 0000 A/ kg 246 246 246| 246 246
AAAN b (S5400) M2 0 X8 5mn 0000 A/ kg 151 151 151] 151 151]
AAAL b (S5400) M2 2 X8 5mm 0000 A/ kg 156 156 156) 156, 156]
AAAL R (S5400) M2 4 X8 5mm 0000 M/ kg 161 161 161 161 161
AAANE(S5400) M3 0 X8 5mm 0000 A/ kg 213 213 213 213 213
AAAFL b (SS400) M10X9 Omm 0000 M/ kg | #%-3-P57| #4-3-P57| #4-3-P57| #4-3-P57[#4-10-P57
AAAN b (S5400) M12X9 Omm 0000 A/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AAEAN b (S5400) M14X9 Omn 0000 A/ kg 222 222 222 222 222
AEAN B (S5400) M16 X9 Omm 0000 B/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AEAN B (S5400) M18X9 Omn 0000 A/ kg 246 246! 246 246 246!
AAAN B (SS400) M2 0 X9 Omm 0000 B/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
FSAAIL b (S5400) M2 2 X9 Omm 0000 B/ kg | H-3-Pe6| H-3-Pe6| H-3-P66| Ht-3-P66|H-10-P66
AAAFL b (SS400) M24 X9 0mn 0000 B/ kg | #-3-P66| H-3-P66! g—a—mél:g—a—ms Ht-10-P66
AAAIL b (S5400) M3 0 X9 Omn 0000 A/ kg 213 213 213 213 213
AL b (SS400) M3 6 X9 Omm 0000 B/ kg 237 237 237 237 237
AL E(SS400) M4 2 X9 Omn 0000 B/ kg 261 261 261 261 261
AAAIL b (S5400) M10X100m 0000 M kg | #4-3-P57| #4-3-P57| #-3-P57| F-3-P57[#4-10-P57
AEAN B (S5400) M12X100m 0000 A/ kg -3-P65| E-3-P65| E-3-P65| H-3-P65|H-10-P65
AP b (SS400) M14X100mm 0000 B/ kg 222 222 222 222 222
AAAFIL b (S5400) M16X100m 0000 B/ kg | H-3-P65| H-3-P65| H-3-P65| Ht-3-P65|H-10-P65
AAAN b (S5400) M18X100mm 0000 A/ kg 246 246 246 246 246
AEAN B (S5400) M20X100m 0000 M/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
ANEAN b (S5400) M22X100m 0000 M kg | #-3-P66| Ht-3-P6e6| H-3-P66| H-3-P66|H-10-P66
AAAL b (SS400) M24X100m 0000 M kg | #-3-Pe6| #-3-Pe6| #t-3-P66| #t-3-P66|HE-10-P66
AL R (S5400) M30X100m 0000 M/ kg 213 213 213 213[213. 00
AL (S5400) M3 6 X100m 0000 M/ kg 237 237 237 237 237
ANAAL b (SS400) M4 2X100m 0000 M/ kg 261 261 261 261 261
AAAL F(S5400) M4 8 X100m 0000 M/ kg 284 284 284 284| 284|
SAAFILE(S5400) M10X110m 0000 M kg | #4-3-P57| #%-3-P57| #4-3-P57| #-3-P57|#%-10-P57
AEANE(SS400) M12X110mm 0000 B/ kg | #4-3-P57| #4-3-P57| #4-3-P57| #4-3-P57|f4-10-P57
AEAFN b (SS400) M14X110m 0000 B/ kg 222 222 222 222 222
AAAL b (S5400) M16X110m 0000 M/ kg | #-3-P65| #-3-Pe5| #-3-P65| H-3-P65[HE-10-P65
AL b (SS400) M18X110m 0000 A/ kg 246 246 246 246 246

kk16_H % 25 (#(H25.11.1).xIs 4/15

165



(B - )

HX[ Eff 3
ks ol ap| a-p | B ETE T 7ATE T eAA [0 [TIATE il
AEAFN b (SS400) M20X110mm 0000 M/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AL (S5400) M22X110m 0000 A/ kg 156 156! 156/ 156 156]
AAAN b (S5400) M24X110m 0000 M/ kg 161 161 161] 161 161]
AAALE(SS400) M30X110m 0000 A/ kg 213 213 213| 213 213]
AAAL b (SS400) M3 6X110mm 0000 M/ kg 237 237 237 237 237
ANAAL b (SS400) M42X110m 0000 A/ kg 261 261 261 261 261
AAAIL b (SS400) M48X110m 0000 M/ kg 284 284 284 284| 284|
AL (S5400) M10X120m 0000 M/kg | #-3-P57| #4-3-P57| #4-3-P57| #-3-P57|#%-10-P57
FAAL R (S5400) M12X120m 0000 M/ kg | #4-3-P57| #4-3-P57| #-3-P57| F-3-P57[#4-10-P57
AL (S5400) M14X120m 0000 A/ kg 222 222 222 222 222
AEANL R (S5400) M16X120m 0000 M/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AAAL b (55400) M18X120m 0000 A/ kg 246 246 246 246 246
NAAN B (S5400) M20X120m 0000 A/kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AAAL b (SS400) M22X120m 0000 M/ kg | #-3-Pe6| #-3-P66| #-3-P66| H-3-P66[HE-10-P66
AAFN b (SS400) M24X120m 0000 M/ kg | #-3-P66| H-3-P66| H-3-P66| H-3-P66|H-10-P66
AEAN b (S5400) M30X120m 0000 A/ kg 213 213 213 213 213
AAAL b (S5400) M36X120mm 0000 A/ kg 237 237 237 237 237
AEANL b (S5400) M42X120m 0000 A/ kg 261 261 261 261 261
AEAN B (85400) M4 8X120m 0000 A,/ kg 284 284 284 284 284
AAAFNV B (SS400) M10X130m 0000 B/ kg | #%-3-P57| #%-3-P57 #%-3-P57| #4-3-P57|f-10-P57
AL b (SS400) M12X130m 0000 M/kg | #-3-P57| #4-3-P57| #4-3-P57| #§-3-P57|#4-10-P57
AAEAN B (S5400) M14X130m 0000 M/ kg 223 223 223 223 223
AR b (SS400) M16X130mm 0000 M/ kg | #-3-P65| H-3-P65| #-3-P65| H-3-P65|H-10-P65
AEAN B (S5400) M18X130mm 0000 A/ kg 246 246 246 246 246
AAFN B (SS400) M20X130mm 0000 [/ kg | #-3-P65| #-3-P65| #-3-P65| #-3-P65|E-10-P65 |
AL R (S5400) M2 2X130m 0000 A/ kg 156 156! 156, 156 156,
ANAAL b (SS400) M24X130m 0000 A/ kg 161 161 161 161 161
AAAL R (S5400) M30X130m 0000 A/ kg 213 213 213 213 213
AL (S5400) M3 6 X130mm 0000 M/ kg 237 237 237 237 237
ANAAL b (SS400) M4 2X130m 0000 A/ kg 261 261 261 261 261
AAEAN B (S5400) M4 8 X1 30m 0000 M/ kg 284 284 284 284| 284/
AAAIL b (S5400) M10X140m 0000 M/ kg | #4-3-P57| #4-3-P57| #4-3-P57 #4-3-P57[#4-10-P57
AAAL b (SS400) M12X140m 0000 M/ kg | #4-3-P57| #4-3-P57| #4-3-P57| #4-3-P57|f#-10-P57
AAAFL b (SS400) M14X140m 0000 A/ kg 222 222 222 222 222
AAAN b (S5400) M16X140m 0000 A/ kg | #-3-P65| H-3-P65| H-3-P65| H-3-P65|H-10-P65
AAEAN b (S5400) M18X140m 0000 A/ kg 246 246 246 246 246
AAAIL b (S5400) M20X140m 0000 kg | #-3-P65| #t-3-Pe5| #t-3-P65| #t-3-P65|H-10-P65 |
kk16_H#8 5 2% {(H25.11.1).xIs 5/15
T i (Eiff : /)
il i sl oy | B e T ETE Temie TomE [AE ] e
AAAL b (S5400) M22X140m 0000 B/ kg 156 156! 156 156 156|
FSAAL b (S5400) M24X140m 0000 B/ kg 161 161 161 161 161
AP b (SS400) M30X140mm 0000 B/ kg 213 213 213 213 213
AL R (S5400) M36X140m 0000 A/ kg 237 237 237 237, 237
AAAIL b (S5400) M4 2X140m 0000 A/ kg 261 261 261 261 261
AAAL b (SS400) M48X140m 0000 B/ kg 284 284 284| 284 284]
AP b (S5400) M10X150m 0000 M/ kg | #4-3-P57| #4-3-P57| #4-3-P57| #4-3-P57[f4-10-P57
AL b (SS400) M12X150mm 0000 M/ kg | #-3-P57| #4-3-P57| #4-3-P57| f4-3-P57[ff-10-P57
AAAL b (SS400) M14X150m 0000 A/ kg 223 223 223 223 223
ARV b (SS400) M16X150mm 0000 kg | #-3-Pe5| #-3-Pe5| #-3-Pe5| #-3-P65|E-10-P65 |
AL R (S5400) M18X150mm 0000 M/ kg 246 246 246 246 246
FAAL R (55400) M20X150mm 0000 kg | #-3-pes| #-3-pes| #-3-pes| #-3-Pe5|#t-10-P65
FSAEAL b (S5400) M22X150m 0000 B/ kg | H-3-Pe6| E-3-P66| H-3-P66| Ht-3-P66|H-10-P66
AEANE (SS400) M24X150m 0000 B/ kg | #-3-P66| #-3-Pe6| H-3-P66| Ht-3-P66[H-10-P66
ASEANE(SS400) M30X150mm 0000 B/ kg 213 213| 213 213 213
FSAAL b (S5400) M3 6X150mm 0000 B/ kg 237 237 237 237, 237
AP b (SS400) M42X150mm 0000 B/ kg 261 261 261 261 261
AL R (S5400) M48X150mm 0000 A/ kg 284 284 284 284 284
AAAIL b (S5400) M10X160m 0000 A/ kg 226 226 226 226 226
AAAL b (SS400) M12X160m 0000 B/ kg 227 227 227 227 227
AAAL b (SS400) M14X160m 0000 A/ kg 222 222 222 222 222
AAAL R (S5400) M16X160m 0000 M/ kg 199 199 199 199 199
AAANE(S5400) M18X160m 0000 A/ kg 218 218 218 218 218
AAAL R (S5400) M20X160m 0000 M/ kg 199 199 199 199 199
AL (S5400) M2 2X160m 0000 A/ kg 204 204 204 204 204|
ANAAL R (S5400) M24X160m 0000 A/ kg 213 213 213 213 213
AL R (S5400) M30X160m 0000 A/ kg 213 213 213 213 213
AL b (S5400) M3 6 X160m 0000 M/ kg 237 237 237 237 237
ANFAAL R (S5400) M4 2X160m 0000 A/ kg 261 261 261 261 261
AL R (55400) M4 8 X160m 0000 M/ kg 284 284 284 284| 284
FSAEAL b (S5400) M10X170m 0000 B/ kg 223 223 223 223 223
AP b (SS400) M12X170mm 0000 B/ kg 227 227 227, 227 227,
AAAIL b (S5400) M14X170m 0000 A/ kg 222 222 222 222 222
AL b (SS400) M16X170mm 0000 B/ kg 199 199 199 199 199
~AFN b (SS400) M18X170mm 0000 B/ kg 218 218 218 218 218
AL R (S5400) M20X170m 0000 A/ kg 199 199 199 199 199
AAAL b (SS400) M22X170mm 0000 A/ kg 204 204 204| 204 204

166

kk16_H8 4% 25 (#(H25.11.1).xIs 6/15




(B - )

HX[ Eff 3
aka il a=p | a-p S 4H1H THIA | 8?1% | 10518 | 11HA1H iid
AAAIL R (S5400) M24X170m 0000 A/ kg 213 213] 213| 213 213
AL b (S5400) M30X170mm 0000 M/ kg 213 213 213 213 213
AAAL b (SS400) M36X170mm 0000 B/ kg 237 237 237 237 237
AAAL R (S5400) M4 2X170m 0000 A/ kg 261 261 261 261 261
AL (S5400) M4 8 X17O0mm 0000 A/ kg 284 284 284 284| 284|
AL R (S5400) M10X180m 0000 A/ kg 225 225 225 225 225
AAAL R (S5400) M12X180m 0000 M/ kg 227 227 227 2217 227
AL (S5400) M14X180m 0000 M/ kg 222 222 222 222 222
ANFAAL R (S5400) M16X180m 0000 A/ kg 199 199 199 199 199
AL R (55400) M18X18O0m 0000 M/ kg 218 218 218 218 218
AL b (S5400) M20X180m 0000 M kg | #%-3-P57| #%-3-P57| f4-3-P57| #4-3-P57[f4-10-P57
AAAL b (SS400) M2 2X180m 0000 M/ kg | #%-3-P58| #4-3-P58| #4-3-P58| #4-3-P58[#4-10-P58
FAAAIL b (S5400) M24X180m 0000 M/ kg | #-3-P58| f-3-P58| f-3-P58| f4-3-P58[f-10-P58
AAAL R (55400) M30X180m 0000 A/ kg 213 213 213 213 213
AAAL b (S5400) M3 6X180mm 0000 A/ kg 237 237 237 237 237
AL (S5400) M4 2 X180m 0000 A/ kg 261 261 261 261 261
ANAAL b (SS400) M48X180m 0000 A/ kg 285 285 285 285 285
AAAL b (S5400) M10X190m 0000 A/ kg 225 225 225 225 225
AL (S5400) M12X190m 0000 M/ kg 227 227 227 227 227
AAAL b (S5400) M14X190m 0000 A/ kg 222 222 222 222 222
AAAL b (85400) M16X190m 0000 A/ kg 199 199 199 199 199
FSAEAIL b (S5400) M18X190m 0000 A/ kg 218 218 218 218 218
AAAL b (SS400) M20X190m 0000 A/ kg 199 199 199 199 199
AAAL b (85400) M2 2X190m 0000 A/ kg 204 204 204 204] 204
FSAAIL b (S5400) M24X190m 0000 B/ kg 213 213 213 213 213
AP b (SS400) M30X190mm 0000 B/ kg 213 213 213 213 213
AAAIL b (55400) M36X190m 0000 A/ kg 237 237 237 237 237
FAAAIL b (S5400) M4 2X190m 0000 A/ kg 261 261 261 261 261
AAAL b (SS400) M48X190m 0000 B/ kg 285 285 285 285 285
FAAAL R (S5400) M10X200m 0000 A/ kg 226 226 226 226 226
AL b (S5400) M12X200m 0000 M/ kg 227 227 227 227 227
AAAL b (SS400) M14X200m 0000 B/ kg 223 223 223 223 223
AAAL b (S5400) M16X200m 0000 M/ kg | #%-3-P57| #4-3-P57| #4-3-P57| #4-3-P57[f4-10-P57
ASAAL b (SS400) M18X200m 0000 A/ kg 218 218 218 218 218
FAAL b (S5400) M20X200m 0000 M kg | #4-3-P57| #4-3-P57| #-3-P57| F-3-P57[ff-10-P57
AL b (S5400) M2 2X200m 0000 B/ kg | #4-3-P58| #4-3-P58| #4-3-P58| F4-3-P58|#4-10-P58
AT b (SS400) M24X200m 0000 A/ kg | #%-3-P58| #4-3-P58| #%-3-P58| f4-3-P58[#f-10-P58
kk16_H# 2% {(H25.11.1).xIs 7/15
T (Eiff : /)
il i sb| s | B e TR TeAie TOmE T AE] e
AAAL b (S5400) M30X200m 0000 B/ kg 213 213] 213 213 213
FSAAL b (S5400) M3 6X200mm 0000 B/ kg 237 237 237 237, 237
AHANLE (S5400) M42X200m 0000 B/ kg 261 261 261 261 261
AL R (S5400) M4 8 X200m 0000 A/ kg 285 285 285 285 285
AAAIL b (S5400) M4 2X220m 0000 A/ kg 261 261 261 261 261
AAAL b (SS400) M48X220m 0000 B/ kg 285 285 285 285 285
AAAL b (S5400) M4 2X240m 0000 A/ kg 261 261 261 261 261
AAAL R (S5400) M4 8 X240m 0000 M/ kg 285 285 285 285 285
ANAAL b (SS400) M4 2X260m 0000 A/ kg 261 261 261 261 261
AAAL R (S5400) M4 8 X2 6 0mm 0000 M/ kg 284 284 284 284 284
AL (S5400) M4 2 X2 8 0mm 0000 A/ kg 261 261 261 261 261
AL R (S5400) M4 8 X2 8 Omm 0000 A/ kg 284 284 284| 284| zsgl
AL R (S5400) M4 2 X300m 0000 A/ kg 261 261 261 261 261
AL b (S5400) M4 8 X3 00mm 0000 M/ kg 285 285 285 285 285|
ANAAL R (SUS304) M8 X 2 Omn 0000 A/ kg 706 706 706 706! 706
AAFN b (SUS304) M10X2Omm 0000 A/ kg | #-3-P68| #-3-P68| E-3-P68| H-3-P68|H-10-P68
AAAL b (SUS304) M1 2 X2 0mm 0000 A kg 712 712 712 712 712
AEAN B (SUS304) M8X25m 0000 B/ kg 707 707 707 707 707,
AAAL b (SUS304) M10X25mm 0000 M/ kg | #-3-peg| #-3-pes| #-3-Pes| #t-3-P6s|i-10-P68
AL (SUS304) M1 2 X2 5m 0000 B/ kg 710 710 710 710! 710
AL E(SUS304) M16X25m 0000 B/ kg 663 663 663, 663 663]
AAAL b (SUS304) M8 X 3 Omn 0000 A/ kg 711 711 711 711 711
AL b (SUS304) M10X3Omn 0000 M/ kg | #-3-pes| #-3-pes| #-3-P68| #H-3-P6s[Ht-10-P68
AAAL b (SUS304) M12X30mm 0000 M kg | #-3-P68| #-3-P68| #-3-P68| H-3-P6S[H-10-P68S
AAAL b (SUS304) M16 X3 0mn 0000 A/ kg 663 663 663! 663 663
AL E(SUS304) M8 X 3 5mn 0000 M/ kg 709 709 709 709! 709
AAEAN b (SUS304) M10X35m 0000 A/ kg | #-3-P68| Et-3-P68| #-3-P68| H-3-P68[H-10-P68
AEAN B (SUS304) M12X35mm 0000 A kg | #-3-pes| #-3-Pes| #-3-Pes| #-3-P68[EE-10-P68
AAFILE(SUS304) M16 X3 5m 0000 M/ kg 664 664/ 664 664 664|
AL R (SUS304) M8 X 4 Omn 0000 A/ kg 708 708| 708 708! 708
AAAFN b (SUS304) M10X4Omm 0000 A/ kg | #-3-P68| #-3-P68| #-3-P68| H-3-P68|E-10-P68
AL (SUS304) M1 2 X4 O0mm 0000 A/ kg | #-3-pes| #-3-pes| #-3-Pes| #-3-P6S[Et-10-P68
AAAL R (SUS304) M16 X4 Omn 0000 M/ kg 664 664 664 664 664|
AL b (SUS304) M2 0 X4 Omn 0000 M/ kg 711 711 711 711 711
AAAL b (SUS304) M8 X 4 5mn 0000 A kg 707 707 707 707 707
AAFNE (SUS304) M10X45m 0000 B/ kg | #-3-P68| H-3-P68| H-3-P68| H-3-P68|H-10-P68
AAAFLE(SUS304) M12X45mm 0000 B/ kg -3-P68| #t-3-Pes| Ht-3-Pes| Ht-3-P68|H-10-P68

kk16_H8 4% 25 (#(H25.11.1).xIs 8/15

167



(B - )

HX[ Eff 3
aka il a=p | a-p S 4H1H THIA | 8?1% 10H1E | 11H1H iid
ASEANE(SUS304) M16 X4 5mm 0000 M kg | #-3-Pes| #t-3-Pes| #t-3-pes| #t-3-P6s|it-10-P68
AL (SUS304) M2 0 X4 5mm 0000 M/ kg 704 704 704] 704| 704|
AT b (SUS304) M8 X 5 0mn 0000 B/ kg 711 711 711 711 711
AEAN b (SUS304) M10X50mn 0000 A/ kg 711 711 711 711 711
ANEAN b (SUS304) M12X50mm 0000 O/kg | #-3-P68| #H-3-P68| H-3-P68| Ht-3-P68|H-10-P68
AT (SUS304) M16X50mm 0000 A/ kg | #-3-P68| H-3-P68| H-3-P68| Ht-3-P68|H-10-P68
ANEAN R (SUS304) M2 0 X5 Omn 0000 M/ kg 707 707 707 707 707
AEANL b (SUS304) M8 X 5 5m 0000 A/ kg 709 709! 709 709) 709
AAAL b (SUS304) M10X55mm 0000 A/ kg 712 712 712 712 712
AAFN b (SUS304) M12X55mm 0000 A/ kg | #-3-P68| #-3-P68| E-3-P68| H-3-P68|H-10-P68
AAAFN b (SUS304) M16X55mm 0000 A/kg | #-3-P68| #-3-Pes| H-3-P6s| Ht-3-P68|Ht-10-P68
AAAL b (SUS304) M20X55mm 0000 b/ kg 705 705 705| 705 705|
AAEAN B (SUS304) M8 X 6 Omn 0000 M/ kg 710 710 710 710! 710
AAAL b (SUS304) M10 X6 Omm 0000 A/ kg 709 709 709 709! 709
AP B (SUS304) M12X60m 0000 B/ kg | #-3-P68 g—s—Pssl H-3-P68| H-3-P68[H-10-P68
AEAN b (SUS304) M16 X6 0mm 0000 M/ kg | #-3-peg| #-3-pes| #-3-Pes| #-3-Pes|i-10-P68
AL b (SUS304) M2 0 X6 Omn 0000 M/ kg | #-3-pes| #-3-pes| #-3-Pes| #-3-P6s|it-10-P68
AAAL b (SUS304) M8 X 6 5m 0000 B/ kg 709 709 709 709! 709
AAAL b (SUS304) M10 X6 5mm 0000 A/ kg 711 711 711 711 711
AL (SUS304) M1 2 X6 5m 0000 M/ kg | #-3-pes| #-3-pes| #-3-P68| #Ht-3-P6s[Ht-10-P68
AAAL b (SUS304) M16 X6 5mm 0000 A/ kg | #-3-Pes| #-3-P68| #-3-P6S| #-3-P6S[HE-10-P68
AEAN B (SUS304) M2 0 X6 5mm 0000 M, kg | #-3-pes| #-3-pes| #-3-pes| #-3-P6s[it-10-P68
AAFILE(SUS304) M8 X 7 Omn 0000 M/ kg 712 712 712 712 712
AAAL R (SUS304) M10X7Omm 0000 A/ kg 711 711 711 711 711
AAAL R (SUS304) M1 2 X7 Omm 0000 A/ kg 711 711 711 711 711
AL (SUS304) M1 6 X7 Omm 0000 A/ kg | #-3-pes| #-3-pes| #-3-pes| #-3-P6S[Et-10-P68
AAAL b (SUS304) M2 0 X7 Omm 0000 A/ kg | #-3-Pes| #-3-Pes| #-3-P6S| #-3-P68[HE-10-P68S
AL b (SUS304) M8 X 7 5mn 0000 M/ kg 709 709 709 709! 709
AL (SUS304) M10 X7 5mm 0000 M/ kg 711 711 711 711 711
AAAN b (SUS304) M12X75m 0000 B kg 712 712 712 712 712
AL b (SUS304) M1 6 X7 5mm 0000 A/ kg 662 662 662, 662 662
AAAL b (SUS304) M2 0 X7 5mm 0000 A/ kg | #-3-pes| #-3-pes| #-3-Pes| #-3-P6S[E-10-P68
AEAN B (SUS304) M8 X 80m 0000 B/ kg 710 710 710! 710 710
ASEAN b (SUS304) M10X8O0mm 0000 B/ kg 711 711 711 711 711
AEAN b (SUS304) M1 2 X8 Omn 0000 A/ kg 711 711 711 711 711
ANEAFN B (SUS304) M16 X8 Omm 0000 B/ kg 660 660 660 660 660!
AEANL . (SUS304) M2 0 X8 Omm 0000 A/ kg 710 710 710 710) 710
kk16_H# 5 2% {(H25.11.1).xIs 9/15
T i (Eiff : /)
aka il bt a-p AL 4H1H THI1H 8H1H 1018 | 11H1H iid
ASEAN B (SUS304) M10X85mm 0000 B/ kg 710 710 710 710! 710
AL b (SUS304) M1 2 X8 5mm 0000 B/ kg 711 711 711 711 711
AAAFLE(SUS304) M16X85mm 0000 B/ kg 662 662 662 662 662
AAEAN B (SUS304) M2 0 X8 5mm 0000 A/ kg 709 709 709 709! 709
AAFL b (SUS304) M8 X 9 Omn 0000 A/ kg 711 711 711 711 711
AEANE(SUS304) M10X9 Omm 0000 B/ kg 711 711 711 711 711
AAAFL b (SUS304) M1 2 X9 Omn 0000 A/ kg 712 712 712 712 712
AL (SUS304) M16 X9 Omn 0000 M/ kg 659 659 659! 659 659
AAAL b (SUS304) M2 0 X9 Omm 0000 A/ kg 709 709 709 709! 709
ANEAN R (SUS304) M8 X 10 Omm 0000 M/ kg 711 711 711 711 711
AL (SUS304) M10X10O0m 0000 A/ kg 711 711 711 711 711
AAAL b (SUS304) M12X100m 0000 A/ kg 711 711 711 711 711
AAEAN R (SUS304) M16X100m 0000 A/ kg 663 663 663! 663 663
AAFILE(SUS304) M20X100m 0000 M/ kg 708 708 708 708! 708
ML b (SUS304) M10X35mm 0000 A/ kg 1, 670 1, 670 1, 670 1,670 1, 670
MAV b (SUS304) M1 2 X3 5m 0000 M/ kg 2, 000 2, 000 2, 000 2, 000 2, 000
MA/N b (SUS304) M16X35mm 0000 A/ kg 2, 100 2, 100 2, 100 2, 100 2, 100
ML b (SUS304) M10X40mm 0000 B/ kg 1,610 1,610 1,610 1,610 1,610
mAV b (SUS304) M1 2 X4 Omn 0000 A/ kg 1, 860 1, 860 1, 860 1, 860 1, 860
mAY b (SUS304) M16 X4 0mn 0000 B/ kg 1,940 1,940 1, 940 1,940 1,940
ML b (SUS304) M10X45mm 0000 B/ kg 1, 530 1,530 1, 530 1,530 1,530
MmAV b (SUS304) M1 2 X4 5mm 0000 A/ kg 1, 880 1, 880 1, 880 1, 880 1, 880
MAV b (SUS304) M16 X4 5m 0000 M/ kg 1, 940 1, 940 1, 940 1,940 1,940
ML b (SUS304) M10X50mm 0000 A/ kg 1, 500 1, 500 1, 500 1, 500 1, 500
mAV b (SUS304) M1 2 X5 0mn 0000 A/ kg 1, 800 1, 800 1, 800 1, 800 1, 800
mAV b (SUS304) M16 X5 0mm 0000 A/ kg 1, 890 1, 890 1, 890 1, 890 1, 890
ML b (SUS304) M10X55mm 0000 A/ kg 1, 640 1, 640 1, 640 1, 640 1, 640
MAV kb (SUS304) M1 2 X5 5m 0000 A/ kg 1, 890 1, 890 1, 890 1, 890 1, 890
ML b (SUS304) M16 X5 5mm 0000 A/ kg 1, 920 1, 920 1, 920 1,920 1,920
ML b (SUS304) M10 X6 Omm 0000 A/ kg 1, 590 1, 590 1, 590 1, 590 1, 590
ML b (SUS304) M1 2 X6 Omn 0000 M/ kg 1, 800 1, 800 1, 800 1, 800 1, 800
MAV b (SUS304) M1 6 X6 0mm 0000 A/ kg 1, 830 1, 830 1, 830 1, 830 1, 830
ML b (SUS304) M10 X6 5mm 0000 M/ kg 1, 560 1, 560 1, 560 1, 560 1, 560
MAV kb (SUS304) M1 2 X6 5m 0000 M/ kg 1, 770 1, 770 1, 770 1,770 1, 770
MmA/V b (SUS304) M1 6 X6 5mm 0000 A/ kg 1, 820 1, 820 1, 820 1, 820 1, 820
| mRL b (SUS304) M10X70mm 0000 B/ kg 1,540 1,540 1, 540 1,540 1,540
| mAR b (SUS304) M12X70mm 0000 B/ kg 1, 790 1, 790 1, 790 1,790 1,790

kk 16_# % 3% {#(H25.11.1).xIs 10/15

168



(B - )

HX[ Eff 3
il ol ] B e e e e ToEE s il
MAV b (SUS304) M1 6 X7 Omm 0000 A/ kg 1, 770 1, 770 1, 770 1,770 1,770
mAV b (SUS304) M10X7 5m 0000 M/ kg 1, 550 1, 550 1, 550 1, 550 1, 550
ML b (SUS304) M12X75mm 0000 B/ kg 1, 700 1, 700 1, 700 1, 700 1, 700
ML+ (SUS304) M16X75mm 0000 A/ kg 1, 720 1, 720 1, 720! 1, 720 1, 720
mAN b (SUS304) M1 2 X8 Omm 0000 A/ kg 1, 650 1, 650 1, 650 1, 650 1, 650
ML b (SUS304) M16 X8 Omm 0000 A/ kg 1, 770 1, 770 1, 770 1,770 1,770
+ v b (SS400) M8 0000 A/ kg 202 202 202 202 202
> b (SS400) M1 0 0000 A/ kg 203 203 203 203 203
F v b (SS400) M1 2 0000 A/ kg 206 206! 206! 206 206]
+ > b (S5400) M14 0000 A/ kg 198 198 198! 198| 198
F > b (S5400) M1 6 0000 A/ kg 162 162 162 162 162
+ > b (SS400) M18 0000 A/ kg 220 220 220 220 220
+ > b (S5400) M2 0 0000 A/ kg 169 169! 169! 169! 169
+ > b (S5400) M2 2 0000 A/ kg 176 176 176| 176, 176]
+ > b (SS400) M2 4 0000 M/ kg 226 226 zzgl 226 zzgl
+ > b (S5400) M30 0000 M/ kg 246 246 246! 246 246
F v b (SS400) M3 6 0000 A/ kg 260 260 260 260 260
F v b (SS400) M4 2 0000 B/ kg 347 347 347 347 347
F v b (85400) M4 8 0000 M/ kg 372 372 372 372 372
+ v b (SUS304) M8 0000 M/ kg 847 847 847, 847 847
F > b (SUS304) M10 0000 B/ kg 1, 008 1, 008 1, 008 1,008 1, 008
F > b (SUS304) M1 2 0000 M/ kg 1,084 1,084 1,084 1,084  1,084]
F v b (SUS304) M1 4 0000 A/ kg 1, 388 1, 388 1, 388 1, 388 1, 388
F v b (SUS304) M1 6 0000 A/ kg 905 905 905! 905, 905!
> b (SUS304) M18 0000 A/ kg 1, 382 1, 382 1, 382 1,382 1, 382
v b (SUS304) M2 0 0000 A/ kg 1,077 1,077 1,077 1,077 1,077
+ v b (SUS304) M2 2 0000 B/ kg 1, 559 1, 559 1, 559! 1,559 1, 559
> b (SUS304) M2 4 0000 A/ kg 1,491 1, 491 1, 491 1,491 1, 491
v b (SUS304) M2 7 0000 A/ kg 1, 489 1, 489 1, 489 1, 489 1, 489
+ v b (SUS304) M30 0000 B/ kg 1,486 1, 486 1, 486/ 1,486 1, 486
+ > b (SUS304) M3 6 0000 A/ kg 1,573 1,573 1, 573 1,573 1,573
+ v b (SUS304) M4 2 0000 A/ kg 1, 541 1, 541 1, 541 1,541 1,541
| &8+ b (S5400) M8 0000 B/ kg 431 431 431 431 431
| 45+ b (SS400) M10 0000 B/ kg 380 380! 380 380! 380
| 453> b (SS400) M1 2 0000 A/ kg 387 387 387 387 387
| $F v b (SS400) M14 0000 B/ kg 593 593 593 593 593
| &+ v b (SS400) M1 6 0000 A/ kg 455 455 455 455 455|

kk16_H8 % 3% {#(H25.11.1).xIs 11/15

— (B - )
i s s | aop | ® I ETE T 7ATe TeAie [oAE AR
| &8+ b (SS400) M2 0 0000 A/ kg 583 583| 583 583 583
| 485> b (SS400) M2 2 0000 A/ kg 621 621 621 621 621
| 485~ b (SS400) M2 4 0000 B/ kg 782 782 782 782 782
| 48 b (S5400) M2 7 0000 A/ kg 966 966 966, 966 966
| 87 v b (SUS304) M8 0000 B/ kg 2,444 2, 444 2,444 2,444 2, 444]
| 485 v b (SUS304) M10 0000 A/ kg 2,423 2,423 2,423 2,423 2,423
8+ v b (SUS304) M1 2 0000 A/ kg 2,401 2,401 2, 401 2,401 2, 401
8+ v b (SUS304) M14 0000 A/ kg 3,074 3,074 3,074  3,074] 3,074
5+ v b (SUS304) M1 6 0000 A/ kg 2, 658 2, 658 2, 658 2, 658 2,658
8+ v b+ (SUS304) M2 0 0000 A/ kg 2,848 2,848] 2,848 2, 848 2,848
&£+ v b (SUS304) M2 4 0000 M/ kg 2,789 2,789 2, 789 2, 789 2,789
] FEERE AL b (SS400) M12X160m 0000 M/ kg 352 352 352 352 352
] FEEBAL B (S5400) M16xX160m 0000 M/ kg 252 252 252 252 252
J FERS AL b (SS400) M12xX200m 0000 M/ kg 313 313 313 313 313
] FEEREAL b (SS400) M16X200m 0000 M/ kg 226 226 226 226 226|
J WAL B (S5400) M20X200m 0000 M/ kg 258 258 258 258 258
J FEER AL b (SS400) M12X250m 0000 M/ kg 319 319 319 319 319
J AL b (SS400) M16X250mm 0000 A/ kg 210 210 210 210, 210
] FE AL b (SS400) M20X250m 0000 A/ kg 242 242 242 242 242
| TR HEEAUL b (SS400) M12xX315m 0000 A/ kg 304 304 304| 304 304|
J R b (SS400) M16x315m 0000 B/ kg 200 200 200 200 200
1 WAL b (S5400) M20xX315m 0000 A/ kg 228 228 228 228 228
J R AL b (SS400) M12xX400m 0000 B/ kg 276 276 276 276 276|
] FEER AL b (SS400) M16xX400m 0000 B/ kg 192 192 192 192 192|
1 WAL B (S5400) M20xX400m 0000 A/ kg 214 214 214 214 214
J EREAL b (SS400) M12X500m 0000 A/ kg 264 264 264 264] 264
J R AL b (SS400) M16xX500m 0000 A/ kg 182 182 182 182 182
] WAL b (S5400) M20X500m 0000 A/ kg 203 203 203| 203 203|
] AL b (S5400) M24X500m 0000 M/ kg 202 202 202 202 202|
] FEEBAL B (S5400) M20X630m 0000 M/ kg 203 203 203 203 203
] WAL B (S5400) M24%X630m 0000 M/ kg 205 205 205 205 205
] FEEREAL b (SS400) M20X800m 0000 M/ kg 192 192 192 192 192
J AL b (SS400) M24X800mm 0000 M/ kg 194 194 194 194 194|
] FEEWAL B (S5400) M20X1, 000mm 0000 M/ kg 188 188 188 188 188
J FEER AL b (SS400) M24X1, 000mm 0000 M/ kg 185 185| 185! 185 185
J I EREA L b (SS400) M24X1, 250mm 0000 B/ kg 188 18_B| 188 188 188
LiZH@AL b (SS400) M12xX160m 0000 B/ kg 374 374 374 374 374

kk 16_#8 % 3% {#(H25.11.1).x1s 12/15

169



(B - )

HX[ Eff 3
s ki ap | o | B TR T7AIE Bi% O0A1E | 1AL il
LRV b (SS400) M12X200m 0000 A/ kg 331 331 331 331 331
LiEHRAL b (SS400) M16X200m 0000 M/ kg 254 254 254| 254| 254]
L R85 L b (SS400) M12X250mm 0000 A/ kg 295 295 295 295 295
LE#AL b (SS400) M16X250mm 0000 A/ kg 225 225 225! 225 225
L EMA/L b (S5400) M12xX315m 0000 A/ kg 274 274 274| 274] 274
LR AL b (S5400) M16X315m 0000 M/ kg 216 216 216 216 216
LGE#BAL b (SS400) M20X315m 0000 A/ kg 220 220! 220! 220 220
LiEMA L b (SS400) M12X400m 0000 A/ kg 259 259 259 259 259!
LIZEH AL b (S5400) M16X400mm 0000 M/ kg 205 205 205 205 205
LA L b (S5400) M20X400m 0000 A/ kg 210 210 210 210 210!
LA b (S5400) M12X500m 0000 A kg 236 236 236 236 236
LA/ b (SS400) M16X500mm 0000 B/ kg 189 189 189 189 189
L WM L b (S5400) M20X500m 0000 A/ kg 197 197 197 197 197
( A s
Fo—5—¢110~120 IRF A S SC450 0000 B/ kg 610 610! 610 610 610
| RS A¥Yy— B SRBER SC450 0000 M/ kg 610 610 610 610 610
FEFYr— (F—uH) BRSPS S SC450 0000 A/ kg 610 610 610! 610! 610
Fo—5—¢110~120 Bxvh” /SREEFAS:  SCMn2B 0000 A/ kg 700 700 700 700! 700
Fo—5—¢110~120 /b’ o EREESRE  SQUnCr3B 0000 B/ kg 805 805 805| 805, 805|
Fo—5—¢110~120 JehE)7° 7 vEREEE  SCCrM3B |0000 A/ kg 705 705 705 705 705
AFGARRAEN Y AV EEEY) PBC2 0000 A/ kg 2, 300 2, 300 2, 300 2,300 2, 300
WEAZN - EEIA SN SO #sEs LBC3 0000 B/ kg 2, 000 2, 000 2, 000 2,000 2, 000
BT A F L - EEIAFN FémgE BC 3 0000 A/ kg 2, 000 2, 000 2, 000 2, 000 2, 000
BRPAAEE AT &, PR Ab""f‘wﬁ FC200 0000 B/ kg 530 530! 530! 530 530
R RTHESS  FC250 0000 M/ kg 530 530 530 530! 530
=5 RTEHEEBS  FC250 0000 A/ kg 530 530 530 530 530!
BREASH R BEESS  FCD450 0000 A/ kg 935 935 935 935 935!
FRAT R4S (4f8)  FC250 [0000 A/ kg 599 599 599 599 599!
725 v7H RTELEESS (4f)  FC250 (0000 A/ kg 665 665 665 665 665
TOAE (A7) RTHESS (4f)  FC250 {0000 M/ kg 823 823 823 823 823
R BRI EEseS (18)  FCp400 - 450 |0000 B/ kg 927 927 927 927 927
PHRA R BRSPS SC450 0000 B kg 3, 060 3, 060 3, 060 3, 060] 3, 060!
ATV T IRF WS, SC450 0000 B/kg 1, 290 1, 290! 1, 290 1, 290 1, 290
EH 7 (P 210700 - Fof) [KEH  tiaey 0000 B/m3| 151,000 151,000] 151,000] 151,000 151,000
) L bR, AR, ER, REFHIZEELRVWLOLTS,
2. EReMRRIeER L& L L, EAHOMRBIMRE S 5,
3. ABHMOEMIIm3L+5,
kk 16_## % 5% {#(H25.11.1).xls 13/15
(Eiff : /)
Py 1 B L2 8 — W
_ _ _ _ i = | 48918 | 7818 | 8418 | 10418 | 11418
(3) ATV LAHHR - 8§45 R U B H 86 F it R 8
PRI VSRR~ Ak [SUS304 2= t =3 0000 A/ kg | #-3-P47| #-3-P47| #-3-P47| H-3-P47|E-10-P47
BREIEAT VSRR~ -Affifk  |SUS304 3S t <6 0000 B/ kg | #-3-P47| #-3-p47| #-3-P47| F-3-P47[H-10-P47
BREIEAT VSRR~ -Afidk  |SUS304  10S t S14 0000 M/ kg | #%-3-Pa2| #4-3-P42| #4-3-P42| F4-3-Pa2[#%-10-P42
| BEEEE ATV SR Eabik SUS304_6< t <10 0000 B/ kg 10 10, 10, 10, 10[~-2 35t =6
AFIVA ALY SUS304 14< t =25 0000 B/ kg 10 10 10, 10 10f-2 105t =14
AR EFEAT YV ASRER kA bTE SUS304  25< t =40 0000 A/ kg 20 20 20 20 20| -2 105 ¢ =14
FREIEAT/VASRAR  EAMRE SUS304 _40< t =65 0000 M/ kg 30 30 30 30 30| -2 105 ¢ <14
AT VAR~ -Affils SUS304 255 ¢ =100 0000 kg | #-3-P48| #H-3-P48| #t-3-P48| #t-3-P48|H-10-P48
AT v L ASRE ATk SUS304 100< ¢ =150 0000 M/ kg 20 20! 20 20! 20|v -2 252 ¢ =100
AT v L ASRE ATk SUS304  150< ¢ =200 0000 A/ kg 30 30 30 30 30[v -1 252 6 =100
AT VL ASRE A~ Al SUS403 25 ¢ =100 0000 A/ kg 250 250 250 250 250
AT v L ASRE ATk SUS403 _100< ¢ =150 0000 M/ kg 20 20! 20! 20! 20|~ -2 255 ¢ =100
AT v VA AT SUS403 150< ¢ =200 0000 M/ kg 30 30 30 30 30}~-2 255 ¢ =100
AN DR IRIRM  ~ -A{li#k [S15C~S50C  25= ¢ =100 0000 kg | #-3-P49| H-3-P49| H-3-P49| HE-3-P49|E-10-P49
B e R BERE 3ah 7 |S15C~S50C 100< ¢ =150 0000 A/ kg 2 2 2 2 2|1 2556 =100
B DR BRRET  XAbIE [SISC~S50C  150= ¢ =200 0000 A/ kg 4 4 4 4 4|v-x 255 ¢ 100
B I R BERA 13 Ah 7 |S15C~S50C  200< ¢ =250 0000 M/ kg 6 6 6 61 s|«'-x 255 ¢ =100
B e R BERE 3 ah 7 |S15C~S50C  250< ¢ =300 0000 A/ kg 8 8 8| 8| 8|1 2556 =100

#) L Q) DOHEHIIS—AMETH S, RIEMCTHICIE. HHEREUAZ 7y TEIMAZITI Z &,
2. (2):7) fm*ﬂma’usotsoj DEFIZDV \—ctimwx ¢ 300mmEL FC, WimtEh Bl b oic 20Tk
i Doz M35

K& A (PFZE) 20K 0000

kg 3, 860 3, 860 3, 860 3, 860 3, 860

| X&ESL (PZ) 20~50 0000 ke 3, 860 3, 860 3, 860 3,860 3, 860
T ENTZ) 50~70 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860
kg =L (PFE) 205 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860

| A#&wTL (P 20~50 0000 ke 3, 860 3, 860 3, 860 3,860 3, 860
| A#TL (PF) 50~70 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860
K#ET L (L) 2055 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860
EXEIND)) 20~50 0000 kg 3, 860 3, 860 3, 860 3, 860 3, 860
| K#ETA (LIB) 50~70 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860
AKET L (FF) 1045 0000 ke 3, 750 3, 750 3, 750 3,750 3, 750

| K&ETL (CER) 10~30 0000 ke 3, 750 3, 750! 3, 750! 3, 750] 3, 750

kk16_H K 3% {#(H25.11.1).x1s 14/15

170



(Hff : F9)

Eﬁ |
il i s [ s T TeEE T

E) FroAE o LML, TR0 ma Cb b,

L. &HE:E8RIA (oS L—rR)

2. A : 14.7TN_/mm2 (150kg/cm2) LAE

3. WEokit : B TRAS%

4. BEWEFOMO : 300%LL E

5. BEAEE : o3 T ERAEA0~80

WE:1.25g /cm3

(5) /f‘y$z (EpkdL)
RNyFxy (BERAL) 600 10HCKIE 0000 A/ # 3, 790 3, 790 3, 790 3,790 3, 790
RNyFxy (BEAL) 600 10#~20% 0000 B/ 8 3, 430 3, 430! 3, 430] 3, 430 3, 430
RNyxy (BrIL) 700 10HCK# 0000 g/ # 5, 230 5, 230! 5, 230) 5, 230) 5, 230
RNyFxy (BN 700 10#~20#% 0000 =] 4, 500 4, 500 4, 500 4,500 4,500
RNyFxy (GEAL) 800 10k 0000 [} 7,920 7,920 7, 920 7,920 7,920
NyFxy (BRIL) 800 10#~20%k 0000 ) 7, 200 7, 200 7, 200 7, 200! 7, 200!
RNyxy (GAL) 900 10#ck:# 0000 B/ 9, 000 9, 000 9, 000 9, 000 9, 000
NyFxy (GEAL) 900 10¥~20f 0000 [P 4 8, 110 8, 110! 8, 110! 8,110 8,110
RyFxy (BRTL) 1,000 10HckR 0000 A/ # 9,910 9,910 9,910 9,910 9,910
RNyxy (GEAL) 1,000 10#~20% 0000 B/ 8 9, 000 9, 000 9, 000 9, 000 9, 000
Nyxy (BRRTL) 1,100 108k 0000 B/ ¥ 10, 800 10,800] 10,800  10,800] 10, 800
Nyxy (BrThL) 1,100 10Hc~20%# 0000 B/ # 9,910 9,910 9,910 9,910 9, 910!
RNyxy (BRTAL) 1,200 108k 0000 M/ # 11, 700 11,700 11,700 11,700 11,700
NyFxy (BRTL) 1,200 108~20%# 0000 B/ 10, 800 10,800] 10,800  10,800] 10, 800
RNyxy (BrTL) 1, 350 108k 0000 B8 13, 900 13,900] 13,900  13,900] 13,900
Ryxy (BRERIL) 1,350 10#~20# 0000 B/ # 12,600 12,600 12,600 12,600 12, 600
RNyFxy (BRRTL) 1,500 108k 0000 B/ 8 14, 400 14,400]  14,400]  14,400] 14, 400
Nyxy (BRIL) 1,500 10#~20# 0000 B/ # 13, 500 13, 500 13, 500 13, 500 13, 500
Ny Fxy (BEkAL) 1,600 10Hck 0000 H 15,600 15,600 15,600 15,600 15, 600
RNyxy (BRIL) 1, 600 10#~20%# 0000 B/ 14, 400 14,400]  14,400]  14,400] 14, 400
Nyxy (BRIL) 1, 650 108K R 0000 A/ # 17, 600 17, 600 17, 600 17, 600 17, 600
RNyFxy (BN 1,650  10#~20# 0000 =] 16,200 16,200 16,200 16,200 16,200
RNyFxy (GEAL) 1,800 10HckK 0000 [} 18, 900 18,900] 18,900 18,900 18, 900
Ryxy (BERIL) 1,800 10H~20# 0000 =] 18,200 18,200 18,200 18,200 18,200
RNyFxy (GEAL) 2,000 10k 0000 B/ 8 21,600 21,600 21,600 21,600] 21,600
Nyxy (BRTAL) 2,000 10$~20# 0000 M/ # 15, 800 15,800] 15,800  15,800] 15, 800
RyFxy (BRTL) 1, 800 X2, 600 10k 0000 M/ # 10,800/ 10,800/ 10,800 10,800 10,800
RNyxy (GEAL) 1, 800 X2, 600 __10f~20# 0000 B/ 8 9,910 9, 910! 9, 910! 9,910 9,910
Nyxy (BRTAL) 2, 000 X2,900 108K 0000 A/ 10, 800 10,800] 10,800  10,800] 10, 800
Nyxy (BrTL) 2, 000 X 2,900 108~ 20% 0000 A8 11, 700 11, 700 11, 700 11, 700 11, 700

kk16_#8 % 3% {#(H25.11.1).xIs 15/15

171



